dhghywywlb whdwlg ywwnwbnn npwluwynpunwiha shongltph
hwyqwrdwb d66 ywhwbowny nubkgnn hwdwpwbhBph
hwwnwgtdwb qhGpp punn swhnpn2hsGtph:

60.000 120.000 240.000 600.000 1.200.000 5.000.000
npwy npud npwy npwy npwd npwy
YY++X0X | O0Y++0X0 OX++0X0 | OX++XXX 0X++00X XX++XXX
YY+-X0X 0Y+-0X0 0X+-0X0 0X+-XXX 0X+-00X
YY++YYX | OY++X00 | OX++X0X | 0X++X00 XX+-XXX
YY+-YYX 0Y+-X00 0X+-X0X 0X+-X00 X0++00X
YY++XYY | YY++0X0 | OX++0XX [ XX++00X X0+-00X
YY+-XYY YY+-0X0 0X+-0XX XX+-00X
YY++YXY | YY++X00 | OX++XX0 | XX++X00
YY+-YXY YY+-X00 0X+-XX0 XX+-X00
YX+HEXXX | YY++00X | XX++X0X | XX++0X0
YX+-XXX YY+-00X XX+-X0X XX+-0X0
XY ++XXX YY+0XX XX++XX0 | XX++0XX
XY +-XXX YY+-0XX | XX+-XX0 XX+-0XX
YY++XX0 | XO++0X0 [ X0++XXX
YY+-XX0 X0+-0X0 X0+-XXX
YO++0X0 | XO0++X0X | X0++X00
Y0+-0X0 X0+-X0X X0+-X00
YO++00X | XO0++0XX [ YY++XXX
Y0+-00X X0+-0XX YY+-XXX
YO++X00 | XO0++XX0
Y0+-X00 X0+-XX0
YO++XXX | OY++XXX
YO0+-XXX 0Y+-XXX
0Y++00X
0Y+-00Y







